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Note Title 10/26/2016

1. Consider an alternative PLL design shown below. Here, Ky o = 150 M{?’ = I, = 100pA, An'q‘a/'
frequencies f; . = 500 MHz, and the delay of each of the elements in the VCDL is
given as
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(a) (10 points) Find tlyfrequﬁncy of oscillafion /L. if R = 1kQ and C' = 100 fF. A.o'; }’ﬁ

<
L(s) = A LGe) = _g,\u;*(‘zj_,
Q{-Sl(/.\>s ) o
[LL‘-’)\'Z \3:
| Ao L) S D D i)

e S = 7265 G




56 Gt



<
h- ,
(c¢) (10 points) A 5-stage VCO needs to be designed based upon the above schematic.
Draw schematic of a delay cell to achieve this with best possible PSRR.
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3. In the resistor-less PLL shown below, assume that the VCO gain Ky o is positive, all
transistors operate in saturation with output resistance, r, = oo. Ignore the NMOS

capacitance.
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